

#### PROPOSAL FOR

# Proposal for Wedding Package Information For You

Silver Leaf Flowers

2839 8th St NW, Naples FL 34119, 239-777-8803 · naplessilverleaf@gmail.com

# Event Design Agreement

Client Information Information For You 000-000-0000

silverleafflowers@gmail.com

## **Event Information**

**Silver Leaf Flowers** 

Coordinator, Erin Risher 239-784-4171

#### **Bride's Bouquet**



An elegant hand tied with organic ribbon bridal bouquet compromised of hydrangea or roses as base flower and accented with soft greenery. Orchid blooms may be added

\$290.00 × 1.00 \$290.00

#### **Bridesmaids**



Lovely petite bouquet matching brides bouquet

\$90.00 × 2.00 \$180.00

#### Flower Girl



Rose petals, not including basket \*\*\*If you like the whole set with basket is \$55

\$20.00 × 1.00 \$20.00

## **Boutonnieres**

#### Groom



Single bloom of choice with soft greenery and an extra touch

\$50.00 × 1.00 \$50.00

#### Groomsmen



Single bloom of choice with soft greenery

\$40.00 × 2.00

\$80.00

#### **Fathers**



Single bloom of choice with soft greenery

\$40.00 × 2.00

\$80.00

#### Grandfathers



Single bloom of choice with soft greenery

\$40.00 × 2.00

\$80.00

## **Ring Bearers**



Petite bloom of choice with soft greenery

\$25.00 × 1.00

\$25.00

#### **Mothers**



Lovely wrist corsage comprised of roses or orchids with soft greenery and ribbon of choice \$60.00 × 2.00 \$120.00

#### Grandmothers



Lovely wrist or pin corsage with roses or orchids, with soft greenery and ribbon of choice \$60.00 × 2.00 \$120.00

# Ceremony

#### Main Altar



1 large floral \$290 1 medium floral \$190

\$480.00 × 1.00 \$480.00

# Chair Decoration



Every other chair - 6 chair total; flower bloom of choice, greenery and ribbon.

\$38.00 × 6.00 \$228.00

Rose Petals	Lightly sprinkled rose petals in front of arch	\$50.00 × 1.00	\$50.00
Arch	Silver Leaf Flowers does no provide arch. Please let us know which vendor you are using for this item.	\$0.00 × 1.00	\$0.00
Welcome florals to Ceremony	Two floral arrangements before entering the ceremony side by the front chairs @ \$68.00 x 2	\$68.00 × 2.00	\$136.00
Fabric	Fabric - your choice of color for the arch decoration, if	\$194.00 × 1.00	\$194.00

needed (including

installation ) \* ivory \* white
\*dusty blue \* blush \* more

#### Centerpieces



Starting price floral centerpiece includes containers (vase, Dish or box) fill with large blooms of hydrangeas, roses, stock, astilbe & other seasonal flowers in elegant all rounded style with accent of orchids blooms or other amazing components / focal point blooms of peonies, garden roses, amaryllises if available in season

\$115.00 × 5.00 \$575.00

#### **Cake Flowers**



We will pick beautiful open blooms of your wedding flowers for your cake person to decorate with. \$60.00 × 1.00 \$60.00

# Cocktail Table Floral



Petite floral if needed

\$45.00 × 6.00 \$270.00

<b>Sweet</b>	Heart
Table	



We will move all your ceremony flowers to be purples at your sweetheart table or family table to crest VIP sitting spot \$0.00 × 1.00 \$0.00

#### **Candles**



Cylinder vases filled with water and floating candles Set of 3 perfect accent for a floral centerpiece; evening time will create romantic glow \$51.00 × 5.00 \$255.00

#### Greenery

if you like some greenery and flower blooms with candles will be an additional \$55.00 \$55.00 × 5.00 \$275.00

# Other

Moving flowers from Ceremony to Reception

All floral arrangements moved from ceremony venue to reception venue; 40 min wait time

\$0.00 × 1.00 \$0.00



QTY TOTAL

**Destination Fee** 

Destination Fee

\$200.00 × 1.00 \$200.00



### 25% Service Charge

Design - Installation -Production- Moving - Set up \$0.00 × 1.00

\$0.00



### **Special Instructions**

• Thank you for reaching out to us. We are emailing a sample of what we provide and the starting price of our packages. We can work with you on the style, type and color of flowers you want. If we can be of service or if you have any questions, please do not hesitate to contact us. As far a payment, 50% is due at the time of contract and the remaining balance is due 30 days prior to the wedding date. Cheers, Ava and Erin

## Charges

• DELIVERY CHARGES

\$0.00

SETUP COST

SUBMITTED BY	Ассертед Ву	Date	
Terms			
Amount Remaining			\$5,126.22
Grand Total			\$5,126.22
Charges			\$1,094.46
Taxes			\$263.76
Subtotal			\$3,768.00
Total			
Custom Charges 3% Credit	card fee	\$153.46	
CUSTOM CHARGES			